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Problem 1. (5 points) At an order fulfillment center it takes on average 5 minutes
to complete an order with a standard deviation of 2 minutes. 65 orders have to be
completed what is the probability it will take less than 5 hours?
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Problem 2. (5 points) Two independent random samples of sizes 33 and 45 are drawn
from a population with g = 7 and ¢ = 3. What is the probability that the absolute
difference of sample means is greater than 1, i.e. what is P(|X; — Xa| > 1)?
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Bonus (3 points) If X follows a Gamma distribution with o = 50, 8 = 3, what precise
distribution could we use to approximate X, justified by the Central Limit Theorem?
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